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1. Write a proof.
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2. Find the measure of each numbered angle.
Given: a|| b and NQ_| MN M
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Now that we have learned the names and relationships of angles formed by intersecting or parallel

lines, we will use that to gQlve eguations. It may belp tQ i el)tify the type of angle first, so you
know whether they are Ci Dr\g . or . angles.

Example 1: Find the value of x in the diagram below.
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Example 2: Find the value of x in the diagram below.
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Identify each angle pair from the diagram at the right. (Use this diagram for #1-10.)

1. Z9and £10 l—m?(lr Pﬂlr Q. m

2. Z12and £13 A’t €X'\ ; 9T1° it I'z "l:
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5. Zl4and £11 Q’H., (n-b

6. Z10and £12 ( (WL(:CSI ).
7. Z14and £15 \?(LW\Q,Sld/Q\Y\‘\ _




Using the dia above, if Z9 =50°, find the angle measures below.
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Use the diagram at the right for questions 11 and 12.

11. Assume s|/¢. Solve forx if m£4=77°and m£8=4x+ 57
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12. Assume s |/ ¢. Solve for x if mZ1=6x—5and mZ£8=115°
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Determine the missing angles.
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